12400 Earl Jones Way

Louisville, KY 40299
rev-a-shelf.com

Customer Service: 800-626-1126

>

@Y REV-ASHELF

INSTALLATION INSTRUCTIONS

VANITY OUTLET ORGANIZER

TOOLS REQUIRED:

D &) &) E)

I@@@@@

ESTIMATED ASSEMBLY TIME: PARTS LIST
No. Description Qty.
20 M I N A Vanity Outlet Organizer 1
B Cable Carrier Arm 1
C Figure 8 Mounting Brackets 4
CARE AND MAINTENANCE:
D #8 x 5/8" Wood Screws 10 (4 for FL)
Clean with a damp cloth and wipe
parts dry. E #8 x 3/8" Pan Head Screws 2 © © . ®
. . O
F Silver Bins 2 /
©f IR %
G Rear BLUM Brackets (FF only) 2
H Wire Clamps 5
| 1/4-14 x1/2" Screws 5 ® (©) =
J Cable Carrier Bracket w/ (2) Screws 1 E
K 1/8" Blum Spacers 2 (4 for FL)
L 1/4" Blum Spacers 4 (FL Only) @ @
M | M5X14.5MM Flat Head Euro Screws* 4 = 5
WATCH VIDEO TUTORIALS OF
PRODUCT INSTALLATIONS N M5X20MM Flat Head Euro Screws* 4

*For use if you have system holes
> f . O B ®

WWW.REV-A-SHELF.COM/VIDEQOS

INSTALLATION INSTRUCTIONS: VANITY OUTLET ORGANIZER LAVOD-0619



STEP 1

Uninstall the slide set by releasing
the Blum triggers and pulling the
drawer box from the slides

(See Figure A). Set slide set to the
side for future use.

STEP 2

Install the figure 8 brackets onto
the front of the drawer using the
screws that come with them
(See Figure B).

STEP 3

Install the cable carrier arm via the
(2) pre-drilled holes on the left side
of the organizer box using (2)

#8 x 3/8" pan head screws

(See Figure C).

STEP 4

Attach the (5) wire clamps and the
(5) 1/4"-14 x 1/2" screws onto the
arm. Screw in a wire clamp on the
first, third, and fifth hole on the
top left bar and screw a wire clamp
into the second and fourth hole
on the right bar (See Figure D).
Once the screws and clamps are in
place, lift each clamp including the
clamp in the back of the drawer
and feed the cord through them.
Depending on where the wall
outlet is installed in the actual
cabinet; there will be slack in the
cord. This can be constrained by
the cord management system.

FIG.D

4th

2nd

st 3rd st

@REV-ASHELF Customer Service: 800-626-1126 | rev-a-shelf.com




STEP 5

Attach the cable carrier bracket to
the LEFT Blum slide by unscrewing
the (2) screws that are already in
the bracket. Secure outside of the
slide for face frame and inside of
the slide for frameless

(See Figure E).

INSTRUCTION FOR
ATTACHING SLIDES AND

INSTALLING THE DRAWER

STEP 6
FACE FRAME ONLY

Note: For frameless application,
skip to Step 8.

Using the measurements from

the drawing, attach the rear Blum
brackets to the back of the cabinet
using (4) #8 x 5/8" wood screws
for each bracket.

Place (2) screws in the top row in
each of the two corners and place
(2) screws in the fourth row as
indicated by the dark circles

(See Figure F).

STEP 7
FACE FRAME ONLY

Using a 1/8"drill bit, pre-drill slide
mounting holes 13/32" from the
front edge of the cabinet. Attach
the (2) 1/8" Blum spacers to both
of the slides. Attach them to the
1st holes on each side. They will
clamp down on the top of each
slide (See Figure G-1). Place the
slide set on the rear brackets.
Then screw the slides set into the
cabinet (See Figure G-2 & G-3).

Note: If this step is installed
incorrectly, the organizer will not
travel smoothly on the slides.
Make sure to install the slide set
level in the cabinet.

)

O

FIG. E

Face frame

FIG. F

13/16"  13/16"
(21mm)

3/32"

Face frame rail

FIG. G-2

INSTALLATION INSTRUCTIONS: VANITY OUTLET ORGANIZER

Face frame stile

FIG. G-3

e




STEP 8

FRAMELESS APPLICATION FIG. H-1

Left Slide

Note: Regardless of system holes
or not, if you have a frameless
cabinet opening of 16.5” then
you MUST use the 1/8"” Blum
spacers. If you have a frameless
cabinet opening of 16.75"” then
you must use the 1/4” Blum
spacers.

Based on the min cabinet opening,

select the Blum spacers that

correlate with the opening. Attach Edge of cabinet
(2) of the Blum spacers to the left

slide. Attach one spacer in the first

hole and the other spacer 5th hole

(See Figure H-1).

Attach (2) of the Blum spacers to
the right slide. Attach one spacer
in the first hole and the other
spacer in the last hole

(See Figure H-2).

Use the dimensions on the image
for proper placement of the
frameless slide set. Secure the
slide set to the cabinet by using
(4) #8 x 5/8" wood screws

(See Figure H-3).

Note: All measurements are from
the center of the hole to the
front edge of the cabinet.

©T)(§ =

FOR FACE FRAME AND

13/32"
N1V

N | «<— Edge of cabinet

FRAMELESS APPLICATIONS

STEP 9

Attach the cable carrier arm to the
large bracket that is secured to
the left Blum slide by disengaging
the locking mechanism, inserting
the plungers, and re-engaging the
locking mechanism (See Figure J).
Slide the drawer onto the slides,
lock the slides onto the triggers,
and cycle a few times.

4 @REV-ASHELF Customer Service: 800-626-1126 | rev-a-shelf.com



STEP 10

Attach the drawer front using the
figure 8 mounting brackets and
the screws that come in the same
bag. The unit can now be plugged
in (See Figure K).

DISENGAGING THE VANITY

OUTLET ORGANIZER

Step 1:

Unplug the organizer from the
outlet that is installed in the
cabinet.

Step 2:

Disengage the two black plungers
that are attached to the arm in the
back of the unit. Achieve this by
pulling out the two plungers. You
will feel them disengage

(See Figure L).

Step 3:

Remove drawer by releasing the
(2) Blum triggers that are on the
bottom of the drawer

(See Figure M).

FIG. K

FIG. L

~

Plungers

IMPORTANT SAFETY INSTRUCTIONS

Caution: To reduce risk of fire or electronic shock or injury to persons:

- Not intended to be used in damp locations. Dry locations only

- Not intended for long term storage. Items should be monitored.

- Drawer should be removed and plastic ties inspected to insure they are secure at least twice a year

- Route and secure cords so that they will not be pinched or damaged when drawer is closed.

- A licensed electrician should be consulted for wiring through ceiling, soffits or walls. All wiring must follow NEC regulations.
- Do not store combustibles in drawer (i.e. aerosols)

- Do not alter the plug or plug cover

Customer’s responsibility: Product intention of use:

- Install 120v outlet in rear of cabinet within 10" of bottom of drawer. - Product is intended for vanity electronic device usage.
- Do not overload outlet. - Overall safety of this product is determined by its end use.

- Wood is combustible. Do not put/leave hot jtems in the bottom of
the drawer. Only place hot items in the (2) silver cans.

- Customer is responsible for wiring and connecting plug in cabinet.
- Do not leave hot items unattended while on in the drawer.

- Turn off hot items not in use in the drawer.

INSTALLATION INSTRUCTIONS: VANITY OUTLET ORGANIZER




@Y REV-ASHELF

12400 Earl Jones Way

Louisville, KY 40299
rev-a-shelf.com

Customer Service: 800-626-1126

>

INSTRUCCIONES DE INSTALACION / LES INSTRUCTIONS D’INSTALLATION

ENCHUFE DE ORGANIZADOR DE TOCADOR
ORGANISEUR DE TOILETTE A PRISE

Tiempo estimado de ensamblado
Durée de I'installation:

20 MIN

Cuidado/ Entretien:

Limpie con un pafio himedo y
seque las partes.
Lubrique los puntos de los
pivotes como sea necesario.

Nettoyer avec un chiffon
humide et essuyer pour sécher
complétement. Lubrifiez les points de
pivotement si nécessaire

VER VIDEOS DE
INSTALACIONES DE PRODUCTOS

REGARDER DES VIDEOS
D’INSTALLATIONS DE PRODUITS

WWW.REV-A-SHELF.COM/VIDEOS

6

LISTA DE PARTES / LISTE DES PIECES

No. Descripcién / Description Qty.
A Enchufe de organizador de tocador 1
Organiseur de toilette a prise
Brazo porta cable / Bras porte-cébles 1
C Soportes de ensamblaje de la Figura 8 4
Supports de montage figure 8
D Tornillos para madera #8 x 5/8" 10 (4 for
Vis a bois #8 x 5/8" FL)
E Tornillos de cabeza plana #8 x 3/8" 2
Vis a téte cylindrique #8 x 3/8”
F Contenedores plateados 2
Bacs en argent
G Soportes traseros BLUM 2
(solo marco completo)
Supports arriere BLUM (FF uniquement)
H Abrazaderas de alambre / Serre-fils 5
I Tornillos de 1/4"-14 x 1/2" 5
Vis 1/4-14 x1/2"
J Herrajes de porta cable con (2) tornillos 1
Support de porte-cables avec (2) vis
K Separadores Blum de 1/8" 2
Entretoises Blum 1/8” (4 for FL)
L Separadores Blum de 1/4" 4
Entretoises Blum 1/4" (FL Only)
M Tornillos Euro de cabeza plana M5 X 14.5 MM* 4
Vis a téte plate Euro* M5X14,5 mm*
N Tornillos Euro de cabeza plana M5 X 20 MM* 4

Vis a téte plate Euro* M5X20 mm*

*Para usar si tiene el sistema de orificios / *A utiliser si vous avez des trous dans le systéme

@REV-ASHELF Customer Service: 800-626-1126 | rev-a-shelf.com

1-4vOD-0619



PASO 1/ ETAPE 1

Desinstale el conjunto de correderas
soltando los activadores Blum y halando
el cajén desde las correderas (consulte

la Figura A). Coloque el conjunto de
correderas a un lado para usarlo después.

Désinstallez le jeu de glissiéres en relédchant
les clips Blum et en tirant le tiroir des glissieres
(voir figure A). Placez le jeu de glissiéres sur le
coté pour une utilisation ultérieure.

PASO 2 / ETAPE 2

Instale los soportes de la figura 8 en la parte
frontal del cajén utilizando los tornillos que
ellos traen (consulte la Figura B).

Installez les supports de la figure 8 sur le

devant du tiroir a I'aide des vis fournies (voir
figure B).

PASO 3/ ETAPE 3

Instale el brazo porta cable a través de

los (2) orificios perforados en el lado
izquierdo de la caja del organizador usando
(2) tornillos de cabeza plana #8 x 3/8 ”
(consulte la Figura C).

Installez le bras de support de céble par les
(2) trous prépercés sur le cété gauche du
boitier de I'organiseur a l'aide de (2) vis a téte
cylindrique #8 x 3/8" (voir figure C).

PASO 4 / ETAPE 4

Coloque las (5) abrazaderas de alambre y
los (5) tornillos de 1/4 “-14 x 1/2 " en el
brazo. Atornille una abrazadera de alambre
en el primer, tercer y quinto orificio de la
barra superior izquierda y enrosque una
abrazadera de alambre en el segundo y
cuarto orificio de la barra derecha (consulte
la Figura D). Una vez que los tornillos y las
abrazaderas estén en su lugar, levante cada
abrazadera, incluida la abrazadera posterior
del cajon y pase el cable a través de ellos.
Dependiendo de dénde esté instalado el
tomacorriente de pared sera instalado el
gabinete; habra holgura en el cable. Esto
puede ser limitado por el sistema de gestion
de cable.

Fixez les (5) serre-cables et les (5) vis 1/4"-14
x 1/2" sur le bras. Vissez un serre-fils dans les
premier, troisiéme et cinquiéme trous de la
barre supérieure gauche et vissez un serre-fils
dans les deuxiéme et quatrieme trous de la
barre droite (voir figure D). Une fois les vis et
les serre-fils en place, soulevez chaque serre-fil,
y compris celui & ['arriére du tiroir, et faites
passer le cordon dedans. Selon I'endroit ot
la prise murale est installée dans le meuble
actuel ; il y aura du mou dans le cordon. Cela
peut étre limité par le systéme de gestion du
cordon.

U= g~
I

INSTRUCCIONES DE INSTALACION: ENCHUFE DE ORGANIZADOR DE TOCADOR
LES INSTRUCTIONS D’INSTALLATION: ORGANISEUR DE TOILETTE A PRISE




PASO 5/ ETAPE 5 FIG. E
Sin marco

Sans cadre

Fije el herraje del porta cable a la corredera
blum IZQUIERDA desatornillando los

(2) tornillos que ya estan en el soporte.
Asegure por fuera de la corredera para el Marco frontal
marco frontal y por dentro de la corredera Cadre de facade
para los que no tienen marco (consulte la
Figura E).

Fixez le support de porte-cébles a la glissiére
Blum GAUCHE en dévissant les (2) vis qui se
trouvent déja dans le support. Fixez I'extérieur
de la glissiére pour le cadre de fagade et
I'intérieur de la glissiére pour les systémes sans
cadre (voir figure E).

INSTRUCCIONES PARA COLOCAR
CORREDERAS E INSTALAR EL CAJON. FIG. F

INSTRUCTIONS POUR LA FIXATION DES
GLISSIERES ET L'INSTALLATION DU TIROIR 13/16"

(21mm)

13/16"
(21mm)

PASO 6 / ETAPE 6
SOLO PARA MARCO FRONTAL

CADRE DE FACADE SEULEMENT

Nota: Para uso sin marco, salte al Paso 8.

Usando las medidas del dibujo, fije los
soportes Blum a la parte posterior del
gabinete utilizando (4) tornillos de madera
#8 x 5/8 " para cada soporte. Coloque (2)
tornillos en la fila superior en cada una de
las dos esquinas y coloque (2) tornillos en
la cuarta fila como lo indican los circulos
oscuros (consulte la Figura F).

3/32"
(2mm)

Remarque : pour une application sans cadre,
passez a |'étape 8.

En utilisant les mesures du dessin, fixez les
supports Blum arriére a |'arriere du meuble

en utilisant (4) vis a bois #8 x 5/8" pour
chaque support. Placez (2) vis dans la rangée
supérieure dans chacun des deux coins et
placez (2) vis dans la quatrieme rangée comme
indiqué par les cercles foncés (voir figure F).

8 @REV-ASHELF Customer Service: 800-626-1126 | rev-a-shelf.com



PASO 7 / ETAPE 7

Usando una broca de 1/8 “, taladre
previamente los orificios de las correderas a
13/32 " desde el borde frontal del gabinete.
Coloque los (2) separadores Blum de 1/8
"en ambas correderas. Coléquelos en los
primeros agujeros de cada lado. Se sujetaran
en la parte superior de cada corredera
(consulte la Figura G-1). Coloque el conjunto
de correderas en los soportes traseros.
Luego, atornille los juegos de correderas en
el gabinete (consulte las Figuras G-2 y G-3).

Nota: Si este paso se instala
incorrectamente, el organizador no se
movera suavemente en las correderas.
Asegirese de instalar nivelado el conjunto
de correderas en el gabinete.

A I'aide d’une méche de 1/8 po, prépercez les
trous de montage des glissieres a 13/32 po du
bord avant du meuble. Fixez les (2) entretoises
Blum 1/8 po Blum aux deux glissiéres. Fixez-
les aux premiers trous de chaque cété. lls se
fixeront sur le dessus de chaque glissiére (voir
figure G-1). Placez le jeu de glissiéres sur les
supports arriére. Vissez ensuite les glissieres
dans le meuble (voir figures G-2 et G-3).

Remarque : si cette étape n’est pas réalisée
correctement, |'organisateur ne se déplacera
pas en douceur sur les glissiéres. Assurez-vous
d'installer le jeu de glissiéres a niveau dans le
meuble.

INSTRUCCIONES DE INSTALACION: ENCHUFE DE ORGANIZADOR DE TOCADOR
LES INSTRUCTIONS D’INSTALLATION: ORGANISEUR DE TOILETTE A PRISE



PASO 8 / ETAPE 8

USO SIN MARCO
SYSTEME SANS CADRE

Nota: Independientemente del sistema

de orificios o no, si el gabinete tiene una
abertura sin marco de 16,5 “, entonces
DEBE usar los separadores Blum de 1/8 “. Si
el gabinete tiene una abertura sin marco de
16,75 ", entonces debe usar los separadores

Blum de 1/4 ". FIG. H-1

Segun la apertura minima del gabinete, Co'rrg‘dera izquierda
seleccione los separadores Blum que Glissiére gauche

correspondan con la abertura. Fije (2) de los —_—

separadores Blum a la corredera izquierda.
Coloque un separador en el primer orificio
y el otro separador en el quinto orificio
(consulte la Figura H-1).

Fije (2) de los separadores Blum a la
corredera derecha. Coloque un separador en
el primer orificio y el otro separador en el

altimo orificio (consulte la Figura H-2).
Borde del gabinete B / ¢ ®

Utilice las medidas del dibujo para colocar Bord du meuble ~a 9-15/32" |

correctamente el conjunto de correderas . = _ — k| O

sin marco. Fije el juego de correderas al 13/32"—>Hif 600~ £ h

gabinete usando (4) tornillos para madera # “ b0 D /'Al—l

8 x 5/8 " (consulte la Figura H-3). " /”-—
S===]

Nota: Todas las medidas son desde el
centro del orificio hasta el borde frontal del
gabinete.

Remarque : indépendamment des trous du
systéme ou non, si vous avez une ouverture
de meuble sans cadre de 16,5 po alors vous
DEVEZ utiliser les entretoises Blum 1/8 po.
Si vous avez une ouverture de meuble sans
cadre de 16,75 po, vous devez utiliser les
entretoises Blum 1/4 po.

En fonction de I'ouverture minimale du
meuble, sélectionnez les entretoises Blum FIG. H-2
qui correspondent a [‘ouverture. Fixez (2)
entretoises Blum sur la glissiere gauche. Fixez
une entretoise dans le premier trou et |'autre
dans le 5e trou (voir figure H-1).

Corredera derecha
Glissiére droite

Fixez (2) entretoises Blum sur la glissiére de
droite. Fixez une entretoise dans le premier
trou et lautre dans le dernier trou (voir Figure
H-2).

Utilisez les dimensions de I'image pour placer
correctement l'ensemble des glissiéres sans
cadre. Fixez le jeu de glissiéres au meuble a
l'aide de (4) vis & bois #8 x 5/8” (voir figure
H-3).

< 13/32"
Sang] V'

<— Borde del gabinete
Bord du meuble

Remarque : toutes les mesures s'effectuent du
centre du trou jusqu’au bord avant du meuble.

10 @REV-ASHELF Customer Service: 800-626-1126 | rev-a-shelf.com



FIG.J

PARA USO CON MARCO FRONTAL Y
SIN MARCO

POUR LES APPLICATIONS AVEC OU
SANS CADRE DE FACADE

PASO 9 / ETAPE 9

Fije el brazo porta cables al soporte
grande que esta asegurado a la corredera
Blum izquierda soltando el mecanismo

de bloqueo, insertando los pasadores y
volviendo a enganchar el mecanismo de
bloqueo (consulte la Figura J). Deslice el
cajén sobre las correderas, bloquee las
correderas en los activadores y realice el
ciclo unas cuantas veces.

Fixez le bras de support de cable au grand
support fixé a la glissiére Blum gauche en
désengageant le mécanisme de verrouillage,
en insérant les pistons et en réengageant

le mécanisme de verrouillage (voir figure J).
Glissez le tiroir sur les glissiéres, verrouillez les
glissiéres sur les clips et faites fonctionner le
tiroir plusieurs fois.

PASO 10 / ETAPE 10

Fije la parte frontal del cajén con los
soportes de ensamblaje de la Figura 8 y

los tornillos que vienen en la misma bolsa.
Ahora se puede enchufar la unidad (Consulte
la Figura K).

Fixez la fagade du tiroir a I'aide des supports de
fixation de la figure 8 et des vis fournies dans le
méme sachet. L'élément peut maintenant étre
inséré (voir figure K).

INSTRUCCIONES DE INSTALACION: ENCHUFE DE ORGANIZADOR DE TOCADOR

FIG. K

S

LES INSTRUCTIONS D’INSTALLATION: ORGANISEUR DE TOILETTE A PRISE

Q

11



DESCONECTAR EL ENCHUFE DEL OR-

GANIZADOR DEL TOCADOR
FIG. L

DESACTIVATION DE L’'ORGANISEUR DE ~J
TOILETTE A PRISE

Plungers

Paso 1:
Desconecte el organizador de la toma que
estd en el gabinete.

Paso 2:

Soltar los dos pasadores negros que estén
unidos al brazo en la parte posterior de

la unidad. Esto se logra halando los dos
pasadores. Los sentira soltarse (ver Figura L).

Paso 3:

Retire el cajén soltando los (2) activadores
Blum que se encuentran en la parte inferior
del cajén (consulte la Figura M).

Etape 1:
Déconnectez ['organiseur de la prise qui est
installée dans le meuble.

Etape 2:

Dégagez les deux pistons noirs qui sont fixés au
bras a l'arriére de I'élément. Pour ce faire, retirez
les deux pistons. Vous les sentirez se désengager
(voir figure L).

Etape 3 :
Retirez le tiroir en reléchant les (2) clips Blum qui
se trouvent sur le fond du tiroir (voir figure M).

ATENCION, INSTRUCCIONES IMPORTANTES DE SEGURIDAD PARA REDUCIR EL RIESGO DE INCENDIO, DESCARGA ELECTRICA O LESIONES A PERSONAS:
No esta disefiado para ser utilizado en lugares huimedos. Solo en lugares secos

No esta disefiado para el all i a largo plazo. Los articulos deben ser monitoreados.

Deberian quitarse e inspeccionarse los amarres plasticos del cajén para asegurarse de que estén seguros al menos dos veces al afio

Pase los cables y asegirelos para que no se rasguen o dafien cuando el cajén esté cerrado.

Se debe consultar a un electricista autorizado para realizar el cableado a través de techos, plafones o paredes. Todo el cableado debe cumplir con las normativas NEC.
No almacene combustibles en el cajén (es decir, aerosoles)

No altere el enchufe ni la cubierta del mismo.
Responsabilidad del cliente: Intencién de uso del producto:

Instale una toma de 120 V en la parte posterior del gabinete a 10 ” de la parte inferior del cajén. El producto esta destinado para el uso de dispositivos electrénicos de

tocador
No sobrecargue la toma.
La madera es bustible. No coloque ni deje obj li en el fondo del cajén. Solo coloque La seguridad general de este producto esta determinada por su uso final.
los obj li en las (2) dores pl d
El cliente es resp ble del cableado y la i6n del hufe en el gabinete.

No deje objetos calientes sin supervisiéon mientras estan en el cajon.

Apague los obj li que no estén en uso en el cajén.

CONSIGNES DE SECURITE IMPORTANTES ! ATTENTION : POUR REDUIRE LES RISQUES D'INCENDIE, DE CHOC ELECTRONIQUE OU DE BLESSURES :
Ne pas utiliser dans des endroits humides. Endroits secs seulement.

Ne pas entreposer a long terme. Les éléments doivent étre surveillés.

Le tiroir doit étre enlevé et les attaches en plastique inspectées pour s’assurer qu’elles sont bien fixées au moins deux fois par an.

Installer et sécuriser les cordons de facon a ce qu'ils ne soient pas pincés ou endommagés lorsque le tiroir est fermé.

Un électricien agréé doit étre consulté pour le cdblage a travers le plafond, les soffites ou les murs. Tout le cablage doit étre conforme aux réglementations de la CNE.

Ne pas entreposer de matiéres combustibles dans le tiroir (par ex., aérosols).
Ne pas modifier la prise ou le couvercle de la prise.

Responsabilité du client: Utilisation du produit:
Installez une prise de courant de 120 V a l'arriére du meuble, & moins de 10 po du bas du tiroir.

Le produit est destiné a I'utilisation d'appareils électroniques de toilette.

Ne pas surcharger la prise de courant. . . .
Le bois est combustible. Ne pas mettre/laisser d’objets chauds dans le fond du tiroir. Ne placer les objets
chauds que dans les (2) boitiers en argent.

La sécurité globale de ce produit est déterminée par son utilisation finale.

Le client est responsable du cablage et du branchement de la prise dans le meuble.
Ne pas laisser d'objets chauds sans surveillance lorsqu’ils sont dans le tiroir.

Eteignez les objets chauds qui ne sont pas utilisés dans le tiroir.

12 @REV-ASHELF Customer Service: 800-626-1126 | rev-a-shelf.com



